@) (x-12(+1) @ (x+1)°(x-1)
@ (x-1)(x+1) @ (x-1)3
® (x+1)3

B -x+1=x*x-1)-(x-1)
=(x-1(x%*-1)
— (- 12+ 1)

L) == -1)=(x-12%*(x+1)
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Q-1 @0 @ 1 ® 2

O -2

x)3-13 = (2x— 1) (4x% + 2x + 1)
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o2 & oFA] 1t - 8x2 — 99 )l=7f ofd A2
® x-3 @ x+3
® x2+1 @x2+9

® x*+3x2+x+3
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@ xXPx+3)+x+3=(x2+1)(x+3)
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B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4
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100 7§ 2] THeHA] x2

—x=1,x2=x=2, -+, x¥2=x-100 Zof|A A57}
el QRO BOZ QARelEL e BE E A9l

@ 571 @ 70 (@)9711 @1/ © 1A

@ —xon= (et a)x—b) (@ b AA%) e o}
b=a+1,ab=n(1<n<100)

a 12345 6 7 89

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90




6.

02 5 22 +y% + 2xy - 2x — 2y O] QITFopd A2

@ x+y @ -x-y
@x—y ® 2x+2y

B

9

@ x+y-2

(FA) =+ 20+ - 2(x+)
=(x+y)?-2(x+y)

= (x+y)(x+y-2)

ShA,
x+»E+y-2)=-(-x-y)(x+y-2)

—(
%(2x+ 29)(x+y—2)




7. 16x* - 625y & 27 JAS5EAAS A2

@ (x+ 5y)(2x — 5y)(4x* + 25y?)
@ (2x+y)(2x — 5y)(4x? + 25)?)
(@)(2x + 5y)(2x — 5y) (4x% + 25y?)
@ (x+ 5y)(x—5y)(4x? + 25y?)
© (

2x + 5y) (x = y) (42 + 25y°)

(B4) = (42)? - (252)
= (4x? + 25y%)(4x2 — 25y?)
= (2x + 5y)(2x — 5y)(4x? + 25y?)




FA 2% +xy +5x -2+ 29+ 37 2x+ay + b)(x+ ey +d) =
Tl 2 W, a, b, ¢, d9] e AR A2 A27

8. kA
el
@13 1,1 @ 1,3 -1,1 (@)—1,3,1,1
@ -1,3, -1,1 ® -1, -3,1,1

B

(FA) =22+ (y+5)x- (y¥*-2y-3)
={2x-(y-3)Hx+ O+ 1)}
=2x-y+3)(x+y+1)

La=-1,b=3,c=1,d=1
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9. AZOEA AHEx y, zol tiot] 3 +y3 + 22 =3xyz E WSS O,
x+y+z9 q2?

@o @ 1 ® 2 @ 3 ® 4

2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0

1
Lty +z=0FE S{(x-))’+ (-2’ + -2 =0
Jd8Y x, y, z 7V AR GE A AF(x#y£2) O|BEZ
x+y+z=0




